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FAFAHS OIAHHI XISHAHS 1,200 1,200 0
= 600
= 600
301 22N = 1,200 1,200 0
= 600
=S 600
01 AR 2EHSHS(RDNEERTHE) 1,200 1,200 0
FHFLAS OIAHHl XI&H
400,000 *3I+= 1,200
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= 6,000
< 1,800
= 4,200
301 EtE NS 12,000 780 11,220
= 6,000
== 1,800
o 4,200
01 Al 2E A S(SRNEXMH) 12,000 780 11,220
OrANEssttaEs 2528 N&
179,104 %67t 12,000
= 6,000
== 1,800
o 4,200
SAEH S F2AMNEALS 70,000 0 70,000
= 49,000
= 21,000
401 Al HIZL 201 70,000 0 70,000
= 49,000
[Ea 21,000
01 AlZH| 69,370 0 69,370
ORld 3l s 2L A
7,000,000& *10S+99. 1% 69,370
= 48,559
s 20,811
03 Al 20HHI 630 0 630
Oelddyl S 32HL A
7,000,000& *10S*0. %% 630
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SN 26,988 5,000 21,988
=S 1,500
s 25,488
SSTFE 224 FAHAE NE A 5,000 5,000 0
== 1,500
[Ea 3,500
402 2I2E X201 & 5,000 5,000 0
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s 3,500
02 QI X2 AL EE(OIHTHE) 5,000 5,000 0
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401 A& B 20HY| 21,983 0 21,983
01 AlEHI 21,988 0 21,988
OMBBAES(SSFE) AEEAM
785,285% *28& 21,988
FHSZ ALY 65,263 253,000 A187,737
CEFE U FHoPH MEOrM JiM 7,503 0 7,503
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02 324l 7,503 0 7,503
OccTV =322 6,552
—se3 83,0003 x62| &+ 12 5,976
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JlE2al 11,326 15,79%5 A4,469
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OJ|2g! = 1,346,000& 1,346
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02 Al - SHIEXRZEHEZ 8 0 8
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